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A Nodi piano E]

Modo corrente

Piano: m
I |Az [m]| |'\n'inc0|0

13 O

Bl

FRace & «

Modi piano
M Az [m] Yincola
1| 0.0/[]4) 52=0;5v=0
2| 0.0[]4) Sx=0;3v=0
3| 0.0|[] ) 5x=0;5y=0 1 g |10 ] 19 10 g
4| 0.0[[]4) Sx=0;5y=0
5| 0.0[[][4) 5x=0;5y=0
6] 0.0[[][4) 5x=0;5y=0 - 14 45
7| 0.0[[]]4) 5x=0;5¢=0
8] 0.0[[][4) 5x=0;5¢=0 17
o) 0.0([] ) Sx=0;5y=0 4 1 HE 2 B
10 0.0/[]4) 5z=0;5v=0
11 0.0/[]4) 5=0;5v=0 N7
12| 0.0|[]}4) Sx=0;5y=0
’ 12
o
11
5] 7 3
1 | |22 4 3 B 1
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an Modi piano

BEIX]

Modo corrente
Piano: |1 [se]

il |ﬂz[m]| |'\-'incolo

KA s e | o

13 O
e =

Hodi piano

I Az [m] vincola
1| 0.0[[ ]2 libera
2| 0.0[[][2 libera
3 0.0[[][2) libera
4| 0.0[[][2) libera
5 0.0{[][2) libera
6 0.0[[][2) libera
7| 0.0|[])2) libera
g 0.0|[]}2) libera
9 0.0{[][2) libero
o) 0.0/[][2) libero
11 0.0/ [][2} libero
12| 0.0/[][2) libero
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At Nodi piano

Modo corrente

Pianao:

B |Az [m] IUincoIo

hemace aft «

| 13 1| 1} incastra

=

Modi piano
M Az [m] ‘incolo
1| 0.0/ ]2 lbero
2| 0.0|[]2) libera
3| 0.0/} ibera 11
4| 0.0{[]]2) libera +
5 0.0{[][2) libera
6 0.0{[][2) libera
7| 0.0{[]]2) libera
8 0.0{[]2) libera
9| 0.0{[]2) libera
10 0,0/[][2 lbero
11| 0.0([]]2) libero
12 0.0/ [][2) libero 12
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